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12Y—300/27

(2)

When is the market in equilibrium?
Under what conditions will the market
be in a stable equilibrium?

SR g A aet § we g 87 9 # @R
g Y @ T () et 27

What is the relationship among AR, MR
and elasticity of demand? What will be
the value of MR when elasticity of
demand is unity? A
MR W AR =i i oiie § #=0 oveg 87 9 9
# &g R F UK oft, @ MR & e ]
grm?

Explain the difference between realized
and desired investment.

wifea ©d wifsa fafam 7 9e we il
Explain how interest rate is determined

in the classical theory.
yRifde R § s € = Rufor & v R

Rar 2, we Al

Explain how saving and investment are
equal in equilibrium.

g e # s wE Rt TRy s

T §, we il

Bring out the difference between
returns to factor and returns to scale.

o ¥ e @ e & yfoea § R wWE
Hifsra)

( Continued )

12Y—300/27

(3)

fh)  Expldain the difference between the
Fisherian and Cambridge versions of
the quantity theory of money.

TR & e R % fRR e ok S
WET # IR wWE Hifg

. ~& How is the firm and the group’s

equilibrium attained CSQQ. monopolistic
competition?

@aﬁ_ﬂﬂaﬁ&mi%ﬁﬁgﬂ
e yHR W B 7

(b)) What are the forms of non-price

competition? Explain how the firms
select the quality of its product and the
level of sales expenditure.

g wRemt F Afm w9 W3 3w
SR A U R A = W R g
%, we fifim

. What are the major policy conclusions of

classical economics? Explain how these
policy conclusions follow from the key
assumptions of the classical theoretical
system.

wRif¥a sdwre & v A feed w0 §7 sl
dafRe wev A ygE wae @ ¥ A freed
e yor yw R w1 v £, wE iR

. In simple Keynesian model, an increase of

one rupee in autonomous expenditure will
cause ‘equilibrium income to increase by a
multiple of one rupee. Explain the process.
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12Y—300/28

(2)

(b) “India needs an evergreen rainbow
revolution.” Elaborate.

“yrE W) TF GEEET FRUTH Wit H T
2" famw AR
(c) What is the significance of micro and

small enterprises in the Indian
economy? :

¥

(d) Suggest measures for the elimination of
black money. :

e g ¥ P & foe YA H g

(e) Highlight the main causes of regional
disparities in India.
st SRR e % g FO B HE
$ifm)

@ ‘It is not the question of ,vc.dmo or
private sector, but of an efficient
sector.” Explain. |
e Tt a1 Bt & w1 7, aRg T
&3 w1 31 EEER

. How Svoca. you like to designate the present

Indian .oooboawluﬁb@n,\&o@ma. under-
developed, developing  or . emerging?
Elaborate.

%%%%%Waﬁmﬁa
are—arfaesiE, scafyeim, foemdfler  TUE
i e S L

%ﬁ%mﬁﬁmﬂmﬁ&%ﬁi

40

( Continued )

12Y—300/28

. “Analyse ‘the agricultural ‘policy ‘of 'India

‘keeping in view the growing incidence of
suicides by farmers. Give. suggestions for
improvement in Indian agriculture.

P g T e gk % waf # i B

i AR 1 e el s B A g

. While comparing the features of pre- and

post-reform 5&5%3& policies * of India,
‘examiné the present trends. Are we on the
right path? R v , (
wra & guR-d ﬂﬁzhﬂﬂ%&m&%
ity T € v o A w6 @ ¥

. Do ,%oc agree that 95553 mcv,v.oﬁ price

and administered prices contribute to
inflation in a major way? How would you
term this kind of inflation—demand-pull or
cost-push?. u ’ ,
Rl & =g e g5 e yefE fwal
e Fewqet WA TR A I 3e wEa &7 W
qarebi at-afie weeTd ¥ A ArE-sa?

. Enumerate the major heads of revenue and

expenditure of the Central budget. Also
distinguish between revenue fiscal and
primary deficits. Is deficit always harmful?
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